OLWVIJRVIZD 3RIVNL Z SiNZDQLX -XQLRUyZ Ot 0D
= CELFD
- RONXUHQFID " HZF]al P NIDV\F]JQ\ 0D
= \QINL (0LPLQDFIH
3XQNIN ),1$
3R]\FID &]DV 3NIl P P
12 -$. 3DXIQD :271,. 5DGRP $
52*$&= _DIDU]\QD 65 0.6 606 9,&725,% 5DFIEY] $
.2%86=(z6.$ .DURIQD +85%$*$1 6RVQRZIHF $
&=a2 = ,(. 5RNVDQD 62 81,% 2GZICFIP $
*2/,66.3$ .DIDUJ\QD 73 2/,03,-&=<. $IHNVDQGlyZ ayG $
0%$.2&_$ ,]DEHID -25"$1 .UDNyZ $
=%52-( = 6-$ OLFKDIQD 3,A7.$ -RQVIDQINQyZ $
6<5( . $IHNVDQGUD 0.6 026 .DIRZIFH $
/(61(5 ODJIGDHQD 0.3 6]F]HFIQ %
0%~ (-$ ODJIGDIHQD 8.6 63 &KUIDQyZ %
- T-&,. 3DXID 3ICIQDVIND $48% %\GJIRV]F] %
./,0.2:6.% .DIRIQD -25025%$1 2IV]INQ %
-$1,6= *DEUHID 25/, . 3UJHZRUN %
),7= 3DI\FID -$56=%$:,$1.% - RGQ\ 3DIN %
=<*$ ,]DEHID 1% = $ 6NHUQIHZIFH %
.8-$:-,66.$,J062 &6l5 026 "3aEIRZD *ylUQIF]D %
67(//$ $QIRQQD 25=(a ((Egd 5
5<%,&6 .$ ODJIGDIHQD *0 856<1T1: zDW]DZD 5
*/$1 (57 "DUD T6(0.$ 6IDIRIDIG *GDEVNL
/&( = ,&= (G\ID 9,&725,% -y]HlyZ
-,01,(-6.%$ .DPUD 65 0.6 606 9,&725,$ 5DFIEYU]
../,$€6 .3 ODUNQD %8 .6 = DIWV]DZD
7(5(&+ 3DI\FID 25=(a (1Ead
- <52%( . ODUNQD * /86 *IIRZIFH
Z <62&.% -RDQQD 2/,03,-&=<_ 6XZDi\l
%$5&=88&+ $IHNVDQGUD 73 2/,03,-&=<. $IHNVDQGUyZ ayG
2/6=%. $SQJIHIND 2/,03,-&=<_ 6XZDi\L
6=%$:-52 = HIRQIND %8 .6 =DIV]DZD
6$a(. 1DIDID 25 .$ =DPRGi
+2"(51%$ .DIDIJ\QD 6+$5. 5XGQD
*58&+%$/6.$ 1DIDID 62.Ta5]HV]yZ
.$5<.2:-6.% .DIDIJ\QD 6.$53% /XEIQ
) (5&+2 "RPIQIND 25=(a ((EgJd
3$1.2:-6.%$,ZRQD =1,&= .RV]DIQ
12 - $. 5RNVDQD 3ICIQDVIND $48% %\GJIRV]F]
*T5%/ *DEUHD 1% = $ 6NHUQIHZIFH
z,(5=%,&.$ "DUD .2521% 6,0 .IHFH
6SIDVK OHHI ODQDJIHU  %X1IG SHIVIHUHG IR 3RIVK 6ZLPPLQJ YHGHUDIIRQ 6IURQD



